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GENERAL INSTRUCTIONS (FTHTY fadar)

Read

the following instructions very carefully and strictly follow them:
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i)

Vi)

This question paper comprises four sections — A, B, C and D. There are 30 questions in
the question paper. All questions are compulsory.
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SECTION A : Question no 1 to 8 are Competency Based Questions. Each question
consists of 5 sub questions each carrying one mark. These questions comprise Multiple
Choice Questions (MCQ) , very short answer type questions. Answer to these questions
should be given in one word or one sentence.
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SECTION B : Questions 9 to 16 consists of Mental Ability and Logical Reasoning
questions, carrying one mark each. These questions comprise Multiple Choice
Questions ( MCQ) , very short answer type questions. Answer to these questions should
be given in one word or one sentence .
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SECTION C : Questions 17 to 28 consists of short answer questions , carrying 2
marks each. Answer to these questions should not exceed 20 to 30 words.
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SECTION D : Questions 29 & 30 consists of long answer questions , carrying 4
marks each. Answer to these questions should not exceed 80 to 100 words.
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Additional 30 minutes will be provided to the students appearing in online mode.
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SECTION: A /@S

CASE 1-Answer question numbers 1 (a) - 1 (e) on the basis of your understanding of the
following paragraph and the related concepts.

Recycling is critical in our “throwaway society” and the same is also true in nature

Living things play one of three roles in their environments.

e Green plants are producers, trapping the sun’s energy in food.

e Most animals are consumers meaning they eat the food provided by green plants.

e And the third role — and one most overlooked — is that of the decomposers “nature’s
recycling centers”.

When plants and animals leave waste behind or die, bacteria, fungi and insects clean it

up. These special organisms are called decomposers, which eat dead plants and

animals. Their main role is to digest and break down organisms into tiny nutrients

which are then returned to the soil.

Without them, dead plants and animals would pile up all around us because of which

the chemicals needed for life would not be available. So just like our recycling centers

are essential to us, decomposers are essential to the earth.
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Decomposers help in
i) Breaking dead waste
i)  Recycling nutrients.
iii) Both (i) and (ii)
iv) Spreading decay.




1.%) 39YgcHh Heg ald &
) H HYTRISE I Aol A
i) Oeh cfedl & GeTeshor H

iii) (i) 3R (ii) ax=Ar A
iv) & el H
1.b) The most important group of decomposers include
1) Bacteria
i) Fungi
iii) Both (i) and (i)
iv) Virus.
1.9) 39Eceh & SN Agcaqol FHg H affer §
i) dFRar
i) sae
iii) (i) 3R (i) It
iv) ARy

1.c) Inthe given food chain

Producer mmmm) Deer mmmmm)Tiger .

Which of the following conditions is true?

i) The tiger is the prey.

ii) The tiger is the primary consumer.
iii) The deer is the predator.

iv) The deer is the prey.

1 a) &g Te Jeen #
3cUlc e mmmm) {2707 w—) ST
frfafaa & g =la o Rafa g &2
i) STgRERE
i) STE ITUTAS 3THTFAT 5
iii) fevor ferir &
iv) fERoT IR &

1d)  The mode of nutrition found in fungi is
i) Parasitic Nutrition
i) Holozoic Nutrition
iii) Autotrophic Nutrition
iv) Saprotrophic Nutrition



1.9) hdeh H UTIT STo aTelT 90T T T &
i) IS gryoT
i) ITTOTEASAIST/ quTesT qryor
iii) TaursT gryor
iv) FarsY qryor

1e) Which of the following is a logical sequence of food chain.
i) Producer =sss=) Consumer === Decomposer
i) Producer === Decomposer =====p Consumer
iii)Consumer =) Producer === Decomposer
iv) Decomposer === produycer === Consumer

1. 3) frarfaf@d & & HaT e @ 1 difds w7 ¢
i) Sculcomm—) IUIGT m—) 3T CH
i) ScuTCom—) e —) ITIHFAT
i) ST m— T ) TECH
V) ATECchm—) IcqTe e IHIFAT

CASE 2- Read the story and answer the questions 2 (a) to 2 (e) .
STORY - THE GODDESS OF THE SILKWORM.( From Chinese Folk Tale)

Hoangti was the emperor of China. He had a beautiful wife whose name was Si-ling.
The emperor and his wife loved their people and always thought of their happiness. In
those days the Chinese people wore clothes made of skins. By and by animals grew
scarce, and the people did not know what they should wear. The emperor and empress
tried in vain to find some other way of clothing them.

One morning Hoangti and his wife were in the beautiful palace garden. They walked up
and down, talking of their people. Suddenly the emperor said, "Look at those worms on
the mulberry trees, Si-ling. They seem to be spinning.”

Si-ling looked, and sure enough, the worms were spinning. A long thread was coming
from the mouth of each, and each little worm was winding this thread around its
body.The next morning Hoangti and the empress walked under the trees again. They
found some worms still winding thread. Others had already spun their cocoons and
were fast asleep. In a few days all of the worms had spun cocoons.

"This is indeed a wonderful thing!" said Si-ling. "Why, each worm has a thread on its
body long enough to make a house for itself!"

Si-ling thought of this day after day. One morning as she and the emperor walked
under the trees, she said, "I believe I could find a way to weave those long threads into
cloth.”
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"But how could you unwind the threads?" asked the emperor.

"I'll find a way," Si-ling said. And she did; but she had to try many, many times.

She put the cocoons in a hot place, and the little sleepers soon died. Then the cocoons
were thrown into boiling water to make the threads soft. After that the long threads
could be easily unwound.

Now Si-ling had to think of something else; she had to find a way to weave the threads
into cloth. After many trials, she made a loom - the first that was ever made. She
taught others to weave, and soon hundreds of people were making cloth from the
threads of the silkworm.

The people ever afterward called Si-ling "The Goddess of the Silkworm."
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2a)  Silkis produced by

i) Larva

i) Adult moth

iii) Cocoon

Iv) Larva and Adult moth
2. %) YW BT IAG b1 ST &

i) omar ganT

ii) TIEH hHIe gaRT

i) TepeT AT

iv) et 3R aaEs $ie ganT

2b)  What is the silk moth known as just after hatched from the eggs ?
i)  Cocoon
i) Pupa
iii) Moth
iv) Caterpillar
2. @) WH FIT 33 J Aehelet F 16 FIT HgT SATAT 872

) HE
i) oqar
i) e
iv)  HeeR
2C) Which step includes boiling while processing silk from the cocoon?
i)  Scouring
i)  Shearing
iii) Rearing
iv) Reeling

2. 91) il { TAH T THERIUT Fd AL Tehe TIOT H JTolel AT 57



i) fFEe
ii)  ZeT PICaT
iii) Tele-uTyoT
iv) Jfeler

2d)  Stages in the lifecycle of silkworm are given below.
Pupa, Silkworm , Egg , Silk moth. Write them in correct order .

i) Pupa =mss) Silkworm =) Eqg mmmm)  Silk moth
ii)  Silk moth === Pupa mmmm) Eqg mmmm)  Silkworm
iii)  Silk moth mmmpEqg mmmm) Silkworm mmmsm) Pupa

iv) Pupa mmmm) Silkmoth mmmmm) Silk worm ) Egg

2. ®) AARIC & SideTesh i ATV e & 18 B |
T, WAHFTA, 33T, 1A A | 375 Fel A # faf@u|
L) U ) WHSTH mmm) 3757 ) 19 I
2. i) YA T e YU STmmmm)  WHGH
3. i) WHRIC ) 35T ) IS ) L
4. iv) IUT e WWH DT o WHAS A o) 3787

2e)  Why is the production of silk objected by animal right activists?

2.3) UY SRIBR SIS GRI R IATE W TURT i H1 oIl 82

CASE 3- Observe the picture given below and answer the guestions from 3 (a) to 3 (e).

&E 3-Ard ferw T AT A1 ¢ 3R 3 (&) - 3 (3) Ak & T2AT oh IA G

Rt
Vinegar +
—+— Baking soda

aferer |ret

Lime ——

Test tube 1 Test tube 2!
@l 1 W@ 2




When a bit of baking soda is added to vinegar in a test tube ( Test tube 1) , a hissing
sound is heard and several bubbles occurs. The test tube is closed and attached by a glass
tube to another test tube ( Test tube 2 ) containing lime water . The lime water slowly
turns milky in this process. This is shown in the above experimental set up.

ST el (ReTeilL) 7 8T 7 ST AT Sfeher |isT AT ST 8, o Teh gegarse &
eafel FoIrs &l & 3R S Folgol Telcl & | TRWToll Y 8¢ leh Teh hidl hl ol GART ol &
AT ATell G TREeTell (REeTell 2) § ST ST &1 7 Tishdl # Tai ol TreAl efR-6X gferan
81 SATaT § 1 I8 3Ward Ui cgarar & fe@rr R gl

3a) Identify the gas evolved in Process A
i) Hydrogen
i) Oxygen
iii) Carbon dioxide
iv) Nitrogen
3. &) 9fehar T H T fad 39 it qgar &Y
i) BTSgeT
i) 3iTergreteT
iii) STeT SIS 3TFATSS

WEIEEC

3b)  When the above gas is passed into limewater it turns milky. The milkiness is due to
the formation of
i) Calcium bicarbonate
i) Calcium Oxalate
iii) Calcium Hydroxide
iv) Calcium Carbonate.

3. W) STe 3o I I ol & Tell 7 TR TohaT STl § ol U6 GedT &1 Silcll o | gieramde
fAraAfaf@a # & fohash Sefel & HROT gIdT 87

i) hicrrIH STEFElIT

i) HieRrTe siferarele

iii) h R gEsieass

iv) Shierrasd wEfae
3c)  What type of change is process A and process B ?

i) Process A Chemical , Process B Chemical

i) Process A Physical , Process B Physical

iii) Process A Chemical, Process B Physical
iv) Process A Physical , Process B Chemical



3. M) ufehar A 3R 9fehar B fohd 9 &1 IRadieT 82 ufshar It sifas
i) gfshar v i, gtk & Tafae
i) 9fshar T Hifaes, gfshar o sifas
i) gfshar v T, fshar o #ifasw
iv) gfehar T sifaes, afshar o Tt

3d)  Vinegar reacts with Baking Soda . Due to which substance in Vinegar does this
reaction take place ?

i) Iron

i) Helium

1ii) Acetic acid

iv) Nitrogen
3. &) FaRenT Sfher AYaT 3 arer 3fATRar FXar & | e & forg uerd & srRor Ig 31fafear gidar
&2

i) ogr

i) &foras

iii) Tfafes 3rea

iv) SATSCISTeT

3e)  When a chemical reaction takes place ---
i) Solution always turns cloudy.
i) A gas is always given off
iii)A Color change is always seen
iv) A new substance is always produced.

3. %) 51 U Tarafas fRfRar g § -
i) TaoraeT gavem g g Srar &
ii) e I EAAT 3T BT &
iii) TR T IRadeT gH2AT /T ST &
iv) BHRIT Ueh o141 IS 3ceet I &

CASE 4 - Indicators are those substances which tell us whether a substance is acidic or
basic by change in colour. Natural indicator is a type of indicator that can be found
naturally. Synthetic indicators are indicators which are synthesized in the laboratory.
Those substances whose smell changes in acidic and basic media are called olfactory
indicators.



Study the following table and answer the questions 4(a) to 4 (e) based on it
Original

Indicator Acid Base
colour
No
Red litmus Red Blue
change
m No
Blue litmus Blue Red
change
) No Reddish
Turmeric Yellow
change brown
Red cabbage Greenish
o 9 Purple Reddish
juice vellow

Phenolphthalein Colourless Colourless Pink

Methyl orange Orange Red Yellow
i No Smell
Onion n/a _
change vanishes
No Smell
Vanilla n/a .
change vanishes

HH 4 - g d YGTY g & ST W1 H IR § §H Tg Tl ¢ Toh his GaTd 3l ¢ AT &R |
STehTcieh Feieh Teh YehIR T FTeh ¢ ToTd UTehicieh &9 & UIIT ST Hehell § | HT3H Feleh & Fah 8l &
oo TaeTeITe 7 Teeifa foRar ST & | & T oieteht 7er 31enr 3R 4TI ATe#H & deof
ST &, STOT g Fgeld ¢

o arforeT & 3reaaa Y 31 3T TR W UeaT 4(F) - 4(3) H 3R

S EED Hel T FIT ATETH 8T AT H
et foreaa STt IS TRAIT TeT el

ier foreag e I IS IRAIT oTeT
gear e IS qRAcT el T 3T
CICKE ok Saretr oITel SURICICH
AT eTelleT T RN ECIC]

4a)  On adding Phenolphthalein indicator to a colourless solution , no change is observed.
What is the nature of this solution ?

i) Acidic

i) Either basic or acidic

iii) Either acidic or neutral
iv) Either basic or neutral.



4. F) WA [aorasT # halewA o Tohde A W 18 IRad 6T &1 ST § | 39 Ao
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4b)  Arun observed that the turmeric stain on his white dress turned reddish brown while
scrubbing his clothes with soap. What may be the possible reason?

i) Soap is acidic in nature

i) Soap is basic in nature.

iii)  Turmeric contains red litmus.

Iv)  Soap solution is neutral.

4. @) 36T CWT o AT & 3T HYST T W5 FHT IHeh! G IR I §ed! T GTT ollel-
3737 81 AT UT| FIAI FIRT T &Y Heell 872

i) TG 3 T T §

i) AT Yol A AT &

iii)  godr & ool foecHT grar &1

iv) AT T faerae Serie e gl

4c)  Asolution turns red litmus paper blue. Which solution should be added in excess to
reverse the reaction?

) Hydrochloric acid

i) Magnesium hydroxide

i)  Calcium oxide

iv)  Calcium hydroxide.
4. 31) T TqerdeT ATl folcad I &l #Atell X ST & | TRTHIAT &l 3eics o Torw fon aiel il
31T AT A TR ST anfge?

i)  gESIFe Ui

iy  HATNRTHA grssirarss

i)  hforH s

iv)  HforaH grssiearss

4d) Lemon juice is taken in a tumbler and water is added to it. Then a red litmus paper
and blue litmus paper was dipped into it. What changes were observed?



4. )

1) Red litmus paper turns blue

i) Blue litmus paper turns red

iii) Red litmus paper becomes white
1v) Blue litmus paper turns pink.

Teh TATelTH # Fie o1 T8 Teram 91T 31 3| TTeir STell a7 | T 36 Ueh offel feleqd

U 3R el foleH T GuR Se1T a1T| .47 Seelld & aTU?

4e)

i) ool forcaq ux sfrem gy Srar g
i) e AT U AT g ST
iii) ool folcad U3 Athe @I ST &
iv)  &fer foeHAs 9 e gl ST B |

Consider the following statements and choose the incorrect one.

) The red cabbage extract is also a natural indicator.

i) The red cabbage extract turns red on adding acidic solution and turns green on
adding basic solution.

iii)  Sodium hydroxide solution turns red litmus to blue, so sodium hydroxide
solution is basic in nature.

iv)  Methyl orange indicator gives yellow colour in acid solution and red colour in
basic solution.

4. 3) AT Y=l W TR HY 3R ITrerd o1 g3 Y|

i) el Y T 31 o Tk el I B

i) Tl I T 37h 30l Tl STefel UX Tl 81 ST ¢ 3R & arel fAems W axr
B ST g |

i) WfeTH grssieass fadaa o foedmd o Jiar X ¢ar g, safav qflsgs
BISSIFATSS [Aerde &TIT Yehfd T 8T &1

iv) T NS gae 3l e & e o7 ot e ferae & ener T gar g

CASE 5- Read the article by NATIONAL GEOGRAPHIC SOCIETY and answer the
questions from 5( a) to 5 ( e) based on the understanding of the following paragraph.

Wind is the movement of air caused by the uneven heating of the Earth by the Sun. It

does not have much substance — you cannot see it or hold it — but you can feel its force. It
can dry your clothes in summer and chill you to the bone in winter. It is strong enough to
carry sailing ships across the ocean and rip huge trees from the ground.

Differences in atmospheric pressure generate winds. At the equator, the sun warms

the water and the land more than it does the rest of the globe. Warm equatorial air rises
higher into the atmosphere and migrates towards the poles. This is a Low-Pressure
System. At the same time, cooler, denser air moves over Earth’s surface towards the



equator to replace the heated air. This is a High-Pressure System. Winds generally blow
from high pressure to low pressure areas.

Y 5- AT [T HIATSET & o T 96 AR 3G
frfoaiad (RTaTE 61 THST & MR W5 (F) - 5 (3) do & 9|
qael FF SaRT YT & HHHAT 1T & T gled dTell §aT 1 a1 §1 SHH 3T qared 781
€ - 39 U qW AT Uehs FEI Hehel ¢ - olfehel TT SHAI AT T HEHH Y Hehdl & | TG
AT H 319k HUS FOT Fehell ¢ 3R AEHT 3 3T0ehT g3 ofeh ST T Wehell 1 TE oG b
UR Al STETsll &l of et 3R ST & 93 Ui ol IR & forw gafed At 8|
AIHASHIT GalTd H HR Yol 3coe] il & | $FET IWT I, FIoT Tleit R STl ahl areht
oot & JoTelT 3 37Tk 1Y Tl &1 91T AT gl agHS H FUX 35T & 3 ¢gal &hr
3R Tl AT &1 T8 AT gara 7 §| 36T GAY, IH T I dGelel & [olT 331, T gal
qedT T HAE I AT YW1 Y 3 dacll §1 I§ 816 329 gald o g1 JaeT HHAAR W 3=
GaTd ¥ A GaTd dTel &1 & el 8 |

5a)  Wind is generated when air moves from a --------------- pressure area to a ---------
pressure area.
i) Lowto Low
i) High to High
iii) High to Low
iv) Low to High

5. %) Udel d¥ 3c9eo] &lcil § ST AT Ueh ----------- | R s f—— Ga1d &1 Hr AR Terar g
i) frTa e
i)y 3TTgd 3T
i) 3T @ e
iv) fFT @3

5b)  Warm air is ---------------- than cold air.
i) Lighter
i) Heavier
iii) Neither lighter nor heavier
iv) Denser

5. @) SN gaT & Jofell H a1 gl --------------—- grargl
) goeehr



i) R
iii) oT df goehr 3R o7 &Y TR
iv) ggel
5¢) When warm air rises, ------------ pressure forms at the surface of the land or sea.
i) High
i) Low
iii) Some
iv) No
5.9) SI9 I gaT I 3o g, A A A Wl H AT W oo a1t B
) 3TI ead
i)y ®H g
i) F e
iv) IS gara g

5d) Reduced air pressure causes

i)  Heavy rain

i) Bright sun light

iii) Decreased wind speed
Iv)  Increased wind speed

5. ®9) foweT argere &1 aoie @ gl §
i) AR STiRer
i) s ygg
i) gar &I A 7 HAT
iv) gar 1 Ifa A gefa

5e) On the Earth , the winds from the north and the south blow towards the equator. What
can we understand from this ?
i)  Earth is round or spherical in shape.
i) Itis hotter in and around the equator.
iii) It is hotter in and around the north and the south.
iv) Wind does not flow from the east or the west.

5.5) g W, 3o} AR Efaror & gard spred Y@r &1 3R gordr §1 $HY g F 1 s
Thd &2
) g IMeT IAT AMNAPR &
i) oEET @1 F IR 38H HEIE Tg W T g B
i) I8 3R 3R faor # 3R 39+ 39 e I g gl
iv) garT qd a1 9fRad ¥ 6T T6r o




CASE : 6 Read the story and answer the questions from 6(a) to 6(e).

Hi ! I’'m Apple and this is my story. One day | woke up in a basket along with my
good friend Strawberry. Then a giant five fingered monster came and picked me up. |
discovered that | was in the mouth. The wetness inside the mouth was due to saliva. This
saliva made me wet and soft. Suddenly a trap door opened and | was swallowed down a
long tube called the Oesophagus. Oh ! | was scared !!!

Then, I landed in a soupy pool. “ This must be the stomach”. I thought.

There | was churned around with gastric juices that contain chemicals called acids and
enzymes.

Then a hole opened up in the bottom of the stomach. | went down the small intestine.
As | was moving through, the juices broke down almost everything. Here the nutrients
were absorbed into the blood. There were two organs that work with small intestine —
Pancreas and Liver. Liver produces bile. A green sac like organ called Gall Bladder
stores the bile. Finally, the Small Intestine pushed me down into the Large Intestine. The
Large Intestine took water out of the undigested food . At last all the remaining waste
products reached Rectum where it was stored for a while before pushing them down the
Anus.

& 6- g T 3R 6(F) - 6(3) dF & ATl & 1A o

AAES | H AT IR TE AY Fgel g1 T foeT A 30 3 Qv wgEl & @y
AN A 301 dl v ferer diwr arforat arer werE Jmr AR A 3or fodrl Ay garn
ool for & g & Ul Hg & 3T #T T dX & HROT A 3§ AR & FH Ier IR
HAGH a1 1| 3releish Teh & 1 earoll Gell 3R & T ofell el 1 ferer amam 5@
ATHTel el Sicr ¥l 3g | # 3 g3 ar 1l

fhe, & Ua RS & drel FH 3| "I§ AR gl Afge”| Hor Jram|

d8T H SIS TH & A1 AYT Tham arm foad 31eeT 3R TollsH ATHET 81 ¢ |

e 3 & fAge REq 7 ve O golarn # i 81 a7 e | - A
3R §¢ T@T U1, T o 9T9eT &X At & dis f&ar | g7 9iweh deal & &d & faaifdd
foham amam 7| SIS I & WY FH T dT & T & - NIRRT IR Ihd| Ihd O
¥eT T &1 TR A1HG Th gy W1 A Yo T GafRd i &1 3id &, 2 na
A HY 9 I A ghel Tl 99 3id A e o g el § Al fewrer foRm 3 A
AV el 3aRIse 3eure Heerd & Ugd AT Sl 5 & F bl F g A R & fAw
Tagrd fohar arar )

6 a) Alimentary canal is a long tube-like structure that runs from mouth till the anus. Food
travels through these organs in the following order.



1) Mouth, ,Stomach, ,Oesophagus, Small Intestine , Large Intestine , Rectum.
i) Mouth, Oesophagus , Stomach , Small Intestine , Large Intestine , Rectum

i) Mouth , Oesophagus , Small Intestine , Stomach , Large Intestine , Rectum
1v) Mouth , Oesophagus , Stomach , Large Intestine , Small Intestine , Rectum

6. %) JMMER ATl Ueh ofell oll SHET AT Bl & S H@ & [eT deh Teichl ¢
ST ST 3791 o ATETH F fAFfoi@d e & JHET LT gl

i) HE, 3TATI, FTHACT, BIEN 37d, TS 3, HART|

i) HG, AT, AR, DI 3, 997 3, AR

i) g, IrTTCN, BIET 37d, ITHARM, IV 317d, FAR

iv) g, T, AR, §7 377, BIET 377d, HAR

6b) What happens when food reaches the stomach ?
) The food is completely digested and is absorbed by tiny blood vessels in the
walls of the stomach.
i) No digestion occurs in the stomach.
iii) The food moves quickly into the small intestine.
iv) Juices mix with the food and stomach muscles squeezes it.

6.@) ST HIsTel AT H IgaaT & o 1 g & 2
) ST G RE @ T ST § 3R AR & ARt # ol &
eIt aRT JTNTT g ST gl
i) 3METIT F FE qraeT e ear B
iii) 3MSTeT STear ¥ BT 3d & Tar ST ¢
iv) I P AT & Ty Fer S g 3R AR fr A sa @
o &
6¢) Inwhich part of our digestive system food gets absorbed?
i) Small Intestine
i) Large Intestine

i)  Stomach
iv)  Liver

6. 1) §AR UTdA o & foha T F o 3@enfea gar g2
i) BIEr 377
ii) a5 377d
i) AR



V) T
6d)  Name the glands associated with the Human Digestive System.
1) Liver and Pancreas
i) Liver and Salivary glands
iii)  Salivary glands and Pancreas
iv)  Salivary glands, Liver and Pancreas.

6. &) AT 9Tl dF & 31 AAT & A1 gy |
i) Johl AR TR
i) TP IR AR T
i) R T 3R A
iv) ORI, Ihd 3R TR

6e)  Bile is made in the ---------
)] Salivary Gland
i) Pancreas
ii)  Liver
iv)  Gall Bladder

6.3 T H 1T &
i) AR AT
i)y 3T
i) T
iv) O &

CASE 7- Observe the picture given below and answer the questions from 7 (a) to 7 (e).

g 7-1 fou 3w T 1 W 3R 7 (&) -7 (@) dF & Y& F I &
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» s P

Parent rock /W.ﬂ‘ﬂ - - TTFEIT ﬁiﬁ? E/ ¢ :‘.(.‘r;:(:-n
. ) LAl .

¢ pr—

The above picture, explains the different layers of the soil, which is known as SOIL
PROFILE.

3R o, A &1 Al oXdl &7 egrear #ar g, O Fgar aResiear &
®q H AT AT B

7a) Soil Profile is

) Horizontal section of the Earth’s surface.
i) Anterior section of the Earth’s surface.
iii)  Posterior section of the Earth’s surface.
iIv)  Vertical section of the Earth’s surface.

7.%) el aResieH §
) g B weg # Afasr @
ii) g ST FAG HI IEAHIC

iii) g T TG HT IUPIC

iv) g T Heg HT Ftafhie

7b) Which of the following layers of the soil contain more humus ?

i)  Top Sail

i) Sub Soil

iii) Bed Rock

iv) Both i and ii

7. @) Tt & e W & W e 3 Qe ¥



i) efrdeer

i) 3enHer
i) 3TYR e
iv) i 3R iig=r

7c) Fungi and Bacteria grow mostly in which layer of the soil?
i) BedRock
i) Sub Soil
i)  Top Soil
iv) All the above
7. ) Hdew AR JFERAT FAEIR A Fir fovg wa # 391d 2

i) 93P
i) 3TN
i) oY fAed
iv)  3WIFd g
7d) Which layer of soil from the soil profile is likely to have small lumps of rocks ?
i)  A-—Horizon
i)  B-Horizon
iii) C—Horizon
iv) Bed Rock

7.9)  #Hal Nesd & fACE & fhe Wd # el S BIE IS Bl T FHTET 872

i) HER FYfa A
i) TER RFufa B
i) TR yfa C
iv) 3TUR &

7e)  Availability of water and minerals in the soil for maximum absorption by roots is in
the -

i) B —Horizon

i) C—Horizon

iii) A —Horizon

iv) Surface of Soll

7. %) I3 @RI A’fhas aiver & T @Al & uel 3k @fAst i sgesar § -
i) TR ufa BH
iy wER yufa cH



i) TR Tufa AH
iv) fAcE & Ide )

CASE 8- Study the climatic data given below and answer the questions from 8(a) to 8(e)

HE 8- AU T STorary Hiehs! 7 gy Y AN 8(&) - 8 () b & Ul & I 4

Month Jan Feb Mar | Apr | May | June | July | Aug | Sep Oct Nov | Dec
& | O|T T

Temperature | 24.5 | 254 | 26.7 | 29.3 | 30.0 | 29.9 | 29.8 | 27.8 | 26.9 | 25.3 | 25.1 | 24.8

(°Celsius)

GICEICH

Cafeaas)

Rainfallcm) | 0.4 | 0.3 05 |06 |38 |26.6(296|305|265(119 |11 |02

auT (T

8a) Which is the driest month in the above mentioned station?

8. ®) 3UYFd TUA H TIH Y HEIT FleT TT 7

8h)

8. W) T @RI 3HeIs1d T 915 Fel aul fohelell 87

i) May

ii) January
iii) December
iv) August

i) 7S

i) STeTar
iii) fgHsy
iv) 3TITET

What is the total rainfall experienced by the station?

i) 130cm
i) 132 cm
iii) 300 cm
iv) 325 cm

i) 130 TT
ii) 132 T




iii) 300 {HY
iv) 325 THT
8¢) Identify the hottest month.
8. 91) TR I AT T UgHeT H|
8d)  Name the month during which the rainfall is heaviest.
8. ©) 3 AR HI ATH ST [T+ R T 3% aw giar 8l

8e)  Assume that the above station is in India , then which monsoon brings rainfall to this
station from the month of June to September.

i) South — west monsoon
ii) North — east monsoon

iii) South — east monsoon
iv)North — west monsoon.

8. 8) H oNifSIU fh 3T FAT HRA H &, ol [ & AasR & FAQlel H 37 F/AA W
il AT AT auT orell &l

i) afevr-afRas AeTge

i) 3Tl AL

iii) afeTor-odf AreTge

iv) STR-AfTH A

SECTIONB/ @8 ®

9) A student studies that some people working in wool industries are more likely to have a
disease called ANTHRAX. It is most likely to occur to the persons who separate the hair of
different textures. Which of these job roles in the wool industry is at more risk? Choose the
correct option from the following.

i) Scouring
i) Sorting
iii)Shearing
iv)Rolling

9)  THh OF IEYIA HAT § o IeT 3N A FH A dT $S AN Pl TYFH
ATHS AR 8l I THTTT JF BT §1 TG 3T AN Pl §lod I JaIH TS FGAT



g Sl 37CIT-371T Sollac & STl I Heldl I gl Fo 36N H SAH F Hled &Y ARl Hr
AR A 3 A &2 i@ & @ §8r [dered &1 age Hifav|

i) HIAATSTT

) TAES

NEEGE

iv)  Fel o YTl HI FUCAT

10) Two balloons were suspended from a string with a gap of 30 cm between them. A
child blows air between the balloons to make them move. He notices that the balloons
instead of moving apart moved close together. Why do the balloons move close together?

10) & FeaRT T 3eoTeh T 30 Yol & e/l & TTY Teh W § e Gd1 31| Th
g eaRl H Follel & fAU 3 < b ARGT §1 381 3WT o aear gy oo
oY Ush g & U Iel IV | IR Teh GEY & UM FAT Tl T2

11) Tube of a bicycle gets inflated when air is filled in it. Why does this happen?
11) WEfhd T A §aT 3R W < {f Sl § | 0T 4T ghelr g2

12) A wet shirt is put on a clothesline to dry on a sunny day. The shirt dries because water
molecules -------------- . Choose the correct option from the following.

i) Gain heat energy and condense

i) Gain heat energy and evaporate

iii) Lose heat energy and condense

iv) Lose heat energy and evaporate.

12) U e Fallsr F gU are o gae & fav 3% & 3w s ar S &1 wHe
q@ AT § FhifH a1l & 3707 —-ooooeeeeev | Ffaf@a & ¥ @ Rebey &1 Taa S|
i) FSAT ST 9Ted & ¢ 3R dafad & Id &
ii) FSHRT Foll uTed R & 3R arfeua g S g
iii) AT Zoll FT g RS & 3R gufag & I &
iv)  FSHAT oll HI g P & 3R JIsyd g S g

13) A student listed some food items as shown:



LEMON JUICE
BAKING SODA
CURD

MILK OF MAGNESIA

Which option classifies the food items on the basis of acidic and basic nature of food?

i)

ACID BASE
LEMON JUICE CURD
BAKING SODA | MILK OF MAGNESIA
i)
ACID BASE
BAKING SODA CURD
MILK OF MAGNESIA | LEMON JUICE
iii)
ACID BASE
MILK OF MAGNESIA | LEMON JUICE
CURD BAKING SODA
iv)
ACID BASE
LEMON JUICE BAKING SODA
CURD MILK OF MAGNESIA

13) Uk o1 & $O Wied Yerdt #1 FyEeeyr fhar Shar 6 fewrar g

sl T |
afeRer drar
e
AR CLIIRRE)
FieT A fasheq @ie uerdl I Hiee A 3FlT 3R & Thfid & 3R W
qaffepet e 82
i)
HFA &R
oA &1 & cer
sferer |rer AR ECTIRRE)




HFol &R
Sfehar @rer e
AERIEECIINRE) oA T &
iii)
HFel &R
ARR I CLIRRE) sl T &
e Sfear arer
iv)
HFel &R
oAl &1 & Sferer et
G} BRI oI e
14) In a bowl of ripe fruits few fresh fruits were placed. The next day it was observed

that the fresh fruits had ripened and ripe fruits had rotten. What kind of change occurred
within the fresh fruits? Choose the correct option from the following.

) Chemical change as the change cannot be reversed.

i) Chemical change as the shape of the fruit changes.

iii)  Physical change as the colour of the fruit changes.

iv)  Physical change as the appearance of the fruit changes.

14) 9 %ol & FER H S dlsl Bel W T F| 39rel ot g@r I3 o drst ®el geh 0
¥ AR 9% el T Ioh Al AT Bell H FF TR FT1 IRaco g3m fafad & & @
fAeheq 1 g1 HIfST]

i)  afae aRade- F3ife aRade & 3eer g1 har ST ThdT Bl

i)y TEERE aRad-- FAfF Bl FT SR SGod ST g

i) e aRade - FifF Bl &1 W1 e ST Bl

iv) siifae 9Rade - Fifh Bell & & SGof ST &l

15)  The image shows the inner surface of small intestine.

15)  IUg 9 O 3 Hr Hidaike dag & i 2l



serosa
|

muscle layers
S o

submucosa
Haagarar

What will likely happen if the number of villi increases in the small intestine? Choose the
correct option from the following,

)] Increases the absorption of food,

i) Faster removal of waste from the body.

iii) Faster breakdown of larger food particles into smaller ones.

iv) Faster ingestion of food.

Ife DI A H AR AT TEAT 9¢ ST A 47 glm? eAfai@a & & Fer fasheT g1
i) HISTT & FAANVUT FI dgell
i) R & 39AST FT1 doit & ToTshraeT
i) 93 W FUN H BIC FUN FH ot ¥ el
iv) oISl @ Jdelt ¥ 37T

16) A student made an arrangement to understand percolation rate of different types of soil
as shown in figure. He poured equal amount of water in all three of them and waited for
around 10 minutes.

16) TP oF A Afficd PR & P & 3ed:TIGUT &3 H THSA T cgaraT i,
Jdur & T & W T §1 39 397 dar F A AT F 9l ST 3R SesTeT 10
fAsTe de gdreT &



Which of these statements is true about the rate of percolation of soil?

i)

i)
i)

V)

Sandy soil has the highest rate of percolation as water passes fastest through it .
Clayey soil has the highest rate of percolation as water passes slowest through
it.

Clayey soil has the highest rate of percolation as it both retains and allows
water to pass through.

Silt has the highest rate of percolation as it both retains and allows water to
pass through.

SAH A il AT HYUT AT & Ied:TAAUT T & aR H TET 87

17)

17)

i)

el fAed & ed:E3aur i ¥ §e8 HUS gt § Fifd A § gl

I ol & R &

fRrell fATE A 3ed:E3q0T & gT T HUF gl § Fifeh gl o e
e q IR &l

Rt B & rad:Tmarr f X g 3OF A § FfF g g F+
gROT & § AN o o & &

MG H IHoed:TAAUT I G a4 ATF gicdr § Fifh Tg dlell I UROT FHcr
& 3R o off & B

SECTION C/®@E

Algae and fungi form a unique association sharing benefit from each other.

a) What is the name of association between them?

b) How do they help each other ?

darer AR Faw TH gEY A W W WA & U U IEfadT 6§ g

T) 3oich ST G BT ATH FT g2



) I T g T A FH A &7
18) When does a land breeze occur ?

a) Time of Day: Day/Night :--------mmmmmmmmmmmm oo

b) Temperature of land : Warmer / Colder :

c) Temperature of Water : Warmer / Colder : ---------------------

d) Direction of Breeze : Seato Land / Land to Sea : ------------------- .

18) Ul FHR e oIl g ?

%) Ra o gag: e/ ad :
) A & AYAT : TH/SET
) 9Tel HT ATIHT : IH / ST
) gar @ G WHg @ I / i ¥ EH e

19) A private zoo in tropical region thought of housing penguins to attract more tourists to
That place. They arranged an artificial condition to keep them.
a) Do you think penguins will be able to survive ?
b) What is the difference between the two habitats i.e, where penguins live and
where they will be shifted ?

19) 3suTehfeatiT &1F & Te faoh RATAER o 39 T | 31 et &t 3meivda
e & fow RSN 7 JEa & W & a7 A1 351 3¢ @A & [T T
Siae TUfy dr cgawar &1
a) T YR I & & GopeA shfad 1@ qrdar
b) T IMATHT F FAT I &, TN UgeT STET W & IR Io¢ S8 TAAART Fohar

SITTaTr?

20) A student is stung by an ant while playing. An elderly person suggests rubbing moist
baking soda in the area to get quick relief. What does moist soda do to the sting of an ant?

20) Th 1T H Weld FAI el o e AT U ol safed STedl T I & o
39 SOTE W A AT HNST WS H FoNG Sl g1 1A WSt AT F 5% W F;

AT 87

21) When a candle is lit , what kind of changes occur ? Explain.

21) ST TH ANAT Tolls AT &, df 5T YPR & IRadsT gld g2 saredr & |

22) What are the Pre- Cyclone (before the cyclone) responsibilities of a common man?



22) T HTH IMGAT HT JF-Tahard (Tad ¥ Tge) FIAT AT 87

23) Give reason why an iron article does not rust if it is coated with a layer of oil?
23) ROT IV f&h oig T a€J W del I W Teled T ST FAT oAl elaTcir?
24) Hrithik tested the nature of rainwater and found it to be acidic.

a) Name any two acids present in acid rain.

b) Name two air pollutants responsible for acid rain.

24) Ffdeh & ST STel & Fpfdl a1 wlreror fohar 3R 3@ el 9|
&) 3FT g F 3UfEUT fFegl ar el & a1 ffaw)
) AT aw & foIv ITer ar ag Yeuent & =17 faf@u|

25) Why does a piece of chappatti chewed for a longer time begin to taste sweet?

25) "I T gehsT 3 &I e TaTe & HoT FT o9l 9Tl g2

26) There are several elements of weather. The weather report carries the information about

which of the elements of weather.

26) FlHH & S dcd gid g1 FEH RUC & Algw & fFF dcg F TR & T9PRT gar g

27) 1If someone is suffering from the problem of acidity after overeating, is it advisable to

give that person lemon juice in that situation? Why?

27) g Rl 1 3% @ & a1 vRARA I gAET & W & O &= 3§ P a7

30 T&fa & ofiq &1 & & 3T g2 4

28) Categorize the following changes as Physical or Chemical changes.
a) Paper towel absorbs water and gets wet
b) A solid is crushed to a powder.
c) A bicycle changes colour as it rusts.
d) Two substances are mixed and light is produced.
28) farafaf@d aRadsll & sifas a1 Tarafas aRadst & s 7 aeffed w1
%) TS T Ao aIelr W o § 3R e g srer &
@) TF 3 F G F o7 qar fordm S @
M) ST TS W ASRPe HT T dg AT &
T) at gerdt Y Hemar arar & 31 Qe 3cueeT g &



SECTION- D/@g ¥
29) a) Name the 3 different types of heat transfer.

29) &) 3 TAfdAeeT UPR & FSAT TSRO & AH fAf@T]
29)  b) Observe the given picture and answer the questions that follows.

29) @) few v AT & eue @ g9 3R AT U v geat & I S|

quer Fret urg 1 e

Large tacks or brad nails

— Metal Rod

i) When a candle is lit , what happens to the rod just above it ?

i) Which pin dropped off the metal rod first ,the one closest to or farthest from the candle?

1ii) What type of heat transfer takes place in the above experiment?

i) ST¥ Teh AIAT Als STl g, dl 38 Sleh FIX HI B T FAT giam g7

i) TG ggel U T O @ diT @1 T TRT, 95 ST AAS F qod HA AT 9 S
qed g7 Ur

i) 3IIFT JIRT H fFhT IR &7 FSAT TATATAROT giar g2

30) Observe the picture and answer the questions

30) faT & €T & W 3R geeAt & 3N ¢



+—— beaker /ey
boiling water /3aaar 9rAT
leaf /o=T
- methylated spirit fAUSACs T
I5— boiling tube /FaUS el
"~ asbestos gauze IHET HT AT
tripod stand /fvarm s

X bunsen burner/ &F7 &Y

To test the presence of starch ,why do we warm the leaves in alcohol or methylated
spirit ?

Why alcohol is heated in a water bath instead of heating it directly ?

While performing iodine test on leaf , which colour does it give if starch is present ?

What would happen to the level of starch in leaves , when the plant is kept in a
darkroom for 2 — 3 days ?

Terd fr 3UTRATY &7 qeT0T A F AT, g7 edhled a1 AU e &
gfet & a7 Fat e &2

3edhigd A AT TH T & AT ST FSHS H FAT 87 HAT ST 82

TRl I IS T X AL, T AlSIE @ W I FiT AT W7 & 82
9 9 @ 2-3 AT & AT AN FA F @ Frar § dr gt F ' F TR
H FIT Ga?
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